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QUESTION 1

Which command defines a default route on an HP Provision switch when routing has been enabled? 

A. ip route 0.0.0.0/0 10.1.1.1 

B. iP route 0.0.0.0/32 10.1.1.1 

C. ip route 0.0.0.0 0 10.1.1.1 

D. ip default-gateway 10.1.1.1 

Correct Answer: A 

 

QUESTION 2

An administrator is adding an HP Provision switch to an existing OSPF network. The switch has two VLANs, 10 and 20,
that should be included in OSPF\\'s area 0. The IP address of the switch in VLAN 10 is 10.110.1/24 and in VLAN 20 is
10.1.20.1/24. 

Which configuration includes both VLANs in the switch\\'s OSPF routing process? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 3

What is the default state of spanning tree on HP Comware switches? 

A. MSTP is enabled. 

B. RSTP is enabled. 

C. STP is disabled. 

D. PVST is enabled. 
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Correct Answer: C 

 

QUESTION 4

Which statement is correct about IRF? 

A. Identical models of switches must be used in the same IRF domain. 

B. Logical IRF port one on a switch must be connected to IRF port two on a second switch. 

C. MSTP is used to remove loops within an IRF domain. 

D. LACP is used to build IRF port connections between switches. 

Correct Answer: B 

 

QUESTION 5

What is the initial OSPF state of a router when an interface becomes active for a segment? 

A. init 

B. loading 

C. two-way 

D. down 

Correct Answer: D 
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